B> Kores

HOTES;,
1, GLATNS CPTIONS — 090" MiMuUM
558 CLATNG i WOLDED FRAVES
SCREWED TOGETHER ¥TH A WINMUM OF
{10} #3xi" SCREWS INSTALLED IN TOP OR
RITERVECIATE SECTON (WTH OR WTHOUT
DECCRATIVE INSERTS) MEETS UNFORM
STATtC N\D PRESSU‘!E S SHOWH O THS
GLATING SHALL HAVE A
IMJCMUM HEIGHE OF 16.59° AND A
MAXAM LERGTH OF 15.947. GLAZNG IS
KOT IUPACT RESSTANT AND DOES KOT
VEET THE REQUREVENTS FOR
WND-BCRRE DEBRIS REGHONS.

2. VNTL OR WOOD DOOR STOP NALED A
MATMUM OF 6" O.C. MUST GVERLAR TCP
AND DOTH £RDS OF PANELS MUNMUM
7/16% TO MEEF KEGATWE PRESSURES,

X KEY LOCK, SUDE {0KK, OR OPERATOR
REQLERED.

4. LOUVER OPTION — 040" it
LOUVERS N MOLDED FRAMES SDQEWED
TOGETHER WTH A MRMUM OF (DJ §aa”
SCﬂE\l‘S INSTALLED N THE B

EOUVERS ARE NOT XUPACT
RESSFAR'F AND DD KOT WEET THE
REQUIREMENTS FOR WND-HORNE DEBRIS
REGIGHS.

5. SECTION STEFL TO HAVE A MNZUM
26 GA THICKNESS.

8. THE DESGN OF THE SUPPCRTING
TRUCTURAL ELEMEN

STRUCTURE AND N ACCORDANCE WATH
CURRENT BUMDNG CODES FOR THE
LOADS LISTED ON THIS DRAWNG.

7. DOOR JAMB T0 BE MANWUM Zx4
STRUCTURAL GRADE LUMBER, REFER TO
JAMA CONNECTION SUPPLEMENT FOR
ATTACHMENT 10 SUPPORTING STRUCTURE.

8. FOR LOW HEAD ROGM LFF
CONDITIONS, TOP BRACKET SHAUL BE A
13 GA LKR 7/4 TOP BRACKET WTH A
mmuu OF (3} 1/4-14x7/8" SELF
DRILLING ERVPTITE SCREWS IN LEU OF
THE BRACKET SHOWM ON THiS DRAWNG.
U-8AR N TOP SECTION
NSTALEED ON TOP OF LHR TOP

13 A HoRZ mcu:—\
13 GA FLAG ANGLE '—\

16 GA MN HORZ
RAGK ]

5/16x1-5/8"

LAG SCREW (MK 4 -\

AS SHOwH)

(4) 3/4-20:0,/18" LARGE —
HEAD TRACK BOLTS 4R
1/4-20 STUDS WTH
1/4-20 HEX NUTS

15 €& W AERT — |
TRACK

1/4-20:9/15" TRACK |

13 GA ROUER SUDE ATIACHED TQ

¥ CENTER SLOT AND 1/4-20v9/18"
TRACK BOLT & 1/4-20 HEX KUT
THROUGH ANY TWO ALIGNNG HOLES

13 GA COMUMERCIAL "A" FRAME

TOP BRACKET ATTACHED WTH

SR) t/é-t4x7/8" sEUF
NG CRUPTITE SCREWS:

A.DD {2)@ 147 /8"
{6 CRUPTITE SCREWS
(NSDE OF EACH END HNGE

27 NYLON STORMGARD ROLLER
WTH 4-1/2° STEW

BOLT AND 1/4-20 HEX
NUT AT EACH JB-US
LANE BRACKET LOCATION

Ko AN

JANE BRACKET

14 GA WDE BODY £xD
HNGE ATTACHED W
4) 1/4-1415/8" snr
APPING SCREWS

15 G& SHFF‘ENED—/

JANB BRACKETS
SEE SCHELDULE FOR
QUARITY, LOCATION,

AND TYPE_/
KEY LOCK OR SUDE FOCK

OKE_END {NDT REQUIRED
VATH OPERATOR — SEE

18 G4 NARROW BODY
INTERUEDIATE HINGE
ATTACHED WiTH {4}

|/4-m5§a‘ SEEF
TAPPING s

14 GA BOFTOH BRACKET

KOTE 3). SUBF BOCK
SHOWN FOR CLARITY

NOTEL {4} SECTION SOUD
DOOR SHOWMN. SEF SHEET 2
FCR U-BLR LOCATICNS O

ATTACHED WITH (2}
1/4=14x7 /8" SELF DROLING
CRUATIE SEREWS A )

1a1ea/E S R
ANPLR MEoSTANT SCREW

BRACKET WITH 5/16-18 BOLT & NUT

20 GA CENTER STLE

2 | 1
REVISIONS

e | ol e ey

—} RELFASE FER ER 11723710 ST

471 Al wpd PER ER il ¥iF] exr

Bl Apv PR ER /13412 [Ed

D
E0OF \

at
o

.‘k‘,n-nu,

STATIC PRESSURE RATHGS

APPROVED SZES

WAX WOTH: 9
DOORS WITH OTHER SECTION CESGN PRESSURE(FSF): 7 /— 44 o
BRACKETS. %’g‘g}%—gﬁ e N&TE 1 SURE(PSF): 35.7/-4 MAX FDGHT TF
9. 1 UES OF THE SHORT PANEL 5 oLAT — * e
EMBOSSUENT SHOW, LONG PAREL OPTIGNS. MAX SECTION HEIGHT: 21
EMBOSSNENT, V12 PANEL EUBOSSMENT, B
OR KO FUBGSSUEMT MAY BE USED.
JAUE BRACKET SCHEDULE
\ RO, TF JAE LOCATCH OF CENFERUNE OF JAMVE
oot | Mo oF | Rniekiqs ACKETS MEASURED FROM POTIOM
HOGHTISECTIONS | (Fa iy dania) o TRic (AL DMENSGNS + %)
- TAT-7
- 56 + e
0 T=7
AR =
14 6A UM el 5 5
&-o 5 ;g:
b 8-0
{FAT AND NGH) FOLLOWNG DMENSON DENGTES SLOTTED JAM3 BRACKET ATTACHED TO TRACK WATH §/4—20x9/16° TRADK HOLT AND NUT AS SHOEN ABOVE
. 18 GA HORIZONTAL Atk DDORS GREATER THAK 8 IN HEGHT REQURE USE OF CONTINUOUS WALL ANGLE. SEE SUFPLEMENT TRACK CHART FOR DETALS.
316652/ TRAZK MARK A. SAWICKI, FE
LaG i
15 BA MN 2501 5, STATE BWY 121, SUTE 200
AT EACH TRANSITION ELLPSE LEWISVILLE, TX 75067
BRAKE T TETS, o 16 OA U VERT B Je s
F TRAGK PE 106283
12 on uE SUPERIMPOSED DESIGN PRESSURE SERIES 1701 77, 180-187 PROFESSONAL ENGINEER'S SEAL PROVOED OLY FOR A
BIACKETS $£€ LOADS OM SUPPORTING STRUCTURE VERFICATON OF WD LOAD CONSTRUCTION DETALS.
SCHEOULE FOR 0odR | Dok TE DRASNGS AND ALk OTHER I DROATION CONUANED EREN JRE THE CONFOINTAL AND PROPRIETARY PROPERIT OF CVERPERD DOOR CORFORANG ARD 115 ATFLWIED COMPAVES.  THS DREWNG
QUANTITY, WOTH | HOGHT | UNFORM 10AD EACH JauB (ALF} AND INFORMATCN, ¥ WHOLE GR N PARY, u.lrr Nor BE COPED [N ARY KANNER OR OSCLOSED 10 ANYOME WTHOUT THE FieCR w‘rmi COSSENT OF DRER-EAD DOOR LHSCLOSURE OF
LOSATION AND MYUFT%SDWWD*MM\WE MME_&SAUB&SEQRMMAWTDMHM&\YMVWM@E&FCWNW&&TMMW CORPOAATIGN.
TYPE 8-0" | AL 1428/ 164.0 i s mmmm 1MLES SRS PREFED FINGH [t Goreln $240int MSFRES
“HGR' TRACK WEE 90| ML +TED7/TEAS |@ E} T T ] s 2 g | M4 | (T B (R Gor | 1015710 170, 1804
251 70 500 +.008/-005F % A vy W57, ' WAY WiDE
TEEFRTAS | VER 500 H008/-003 F Ter + 03 | DEsRE u, shwcky | 10/23/10 o
2 oo & RO S + 210 NOVE o D—411042
T T 3 115 aifs &5 | EMM F. TONG W23/ for N5 [em 15 7
8 7 5 5 4 | 3 2 1



8 5 4 3 2 1
REVSIONS
[> nores o [ e tscreaon R
SCCa5 ]| —[ FREE FER ER 72310 T
247 A Fiv PER ER Af1E41D o7
A3 B REV FER ER [VAEYAF) [

o e rerrr  ptameereh

=]

S e

(5) SECTION DOGRS WM
(8) 3 20 GA BO KSI U-BARS
EDCATED

OCATED AS SHOWN

{5) SECTWON DOORS WTH
3 20 EA 80 K5t U-BARS !

(4) SECTION DOCRS WIH
(4} 3 20 GA B0 XSt U-BARS
LOCATED AS SHOMM

12)

o

U
-
uﬂf@*

=)

;)

T

A"ACH U-BARS WTH
~14x7/8" SEIF
G CRIVPTITE SCREWS
AT ALL STHE LOCATIONS, TYP.

B4R IOCARNS

{8) SECT.CN BOORS WITH
{8) ¥ 20 GA B3 KS U-BARS
OCATED AS SHOWN

(7) SECTON DOORS WTH
(1) 3 70 Ga £0 kS oo 1
D AS SHOWN

b
Sy
L2
)
AS SHOMN 3
)
=]
3]
2]
‘3
- .
"
b A
n |l
3 il
e% cg
DE- I
_
i :
I
1] D £,
I
‘d
- = L
o - el
In| 1
B
oy B o
L tE e
i 1]
1] ) il
n B 4
=03 o3 oty
i l:. )] - 23 _
£ ¥
I 3 g
b BB

LD WIS

=

1=
T &

T

T

o WL

LA, W

T

&

g

\\\\\%"

THE DRNTYS A ML OTHER WFOSMATON CONTASED FEREI JRE THE GUAFLENT,
A0 BTORMATCH, I WHOLE O0R N FART BAY NOT BE CORED I ANY BANMER OR I}'EQDSCD 10 AYIRE BTHOUT THE
F THS DRAFNG O B0 OPERATE A5 A LTENSE OR

AHD PROPRETATY PROPERTY OF GHIRHIAD

MARK A SAWICKS, PE
2301 S, STATE HWY 121, SUTE 200
LEWISVILLE, T 75067
L PE 72613
TX PE 10628t
PROFESSIONAL ENGINEER'S SEAL PROVDED ONLY FOR
VERFICATON OF %WiND LOAD CONSTRUCTION DETALS.

DIOR CORPORATIGY AKD. 15 AFFLUTED COWOMNES. THS DRERENG
FCR WRITEN (UNSENT OF

L LRSCLASURE
THOUT TrE SPECRE 'iRﬂTSH m’r CF mmm DOCR COAFGAATON.

ATHORZATION Y0 LSE. TF T0R AR, FUSPOSE 3
i RNSH |
iy TR | 10715710 = StRies 170, 18081
ha Ll P wS7, 9" Mt ¥i0E
UMT OF T shwick | 10425010
MEASLRE e B D-411042
. KGNE =
REF DWG el F. TIONG 11/23/10 CEENEREN BN T
8 5 | 2 1




